5x tables

Colour the 5x tables.

1123|455 |6]|7]8]a]i0
1M 1211314151617 ] 18] 19|20
21 (2223|2425 |26| 27|28 |29 30
31[132(33|34|35|36|37|38]39]40
41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50
51 (52|53 |54|55|56]|57|58]59] 60

How many petals are there in total?

QOOQOOM5
Oahh_
OOOOMh_

Complete:

a 1x5=_ g 7xb5=
b 2x5=__ h 8x5=
c 3x5=_ i 9x5-=
d 4x5= j 10x5=
e 5x5= R 11x5=
f 6x5= l 12x5-=

B0 ...

L R

OOOOOMH_

f o 1xb=
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5x tables
Colour the 5x tables.
1 2 |34 | 5|6 | 7]|8]9]10
1"M{12(13 (14| 15|16 |17 |18 | 19| 20
21 22 (23 12412512627 (28|29 |30
311323334 |35|36|37|38]|39]40
41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50
51152 |53 |54 55|56 |57 |58]59]|60

How many petals are there in total?

000000
00 bs-___
0000 o xfoe -

Complete:

a 5x5=
b

c 2x5=
d 9x5=
e 3x5=
f

=35

55

* % ¥

1x5=

X =20
12x5 =
10x5=

X = 40
6x5=

aoa three x five =
QAT ...

e
f o 1xb5=
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5x tables L & & ¢

Colour the 5x tables. Complete:
20 (37|46 | 5 |43 |51 | 6 |59 (36| 14 a 5x5= g 1x5=
52| 4 |13 |28 |50 | 1942|2949 | 25 b X _ 35 h X - 20
30121144 1 |60 |26 |47 | 12 | 56 | 41 c 2x5= i 12x5=
5345 (38|57 |15 (33|54 |34 3 |24 d 9x5= j 10x5=
8 |31 140 |22 | 7 |55 (11|48 | 16 | 58 e 3x5= k X — 40
171351 9 (273218 2 |23]|10] 39 f X _55 | 6x5-=

How many petals are there in total?

000000 X
00 x
0000 o
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Answers - 5x tables w* 77 77

Colour the 5x tables. Complete:
T{2 (345|678 9]10 a 1x5= 5 g 7x5= 35
M [12(13 1415|1617 (18] 19| 20 b 2x5= 10 h 8x5= 40
21 |22 (23 | 24125 |26|27|28|29]30 ¢ 3x5= 15 i 9x5= 45
3113233 |34|35|36|37|38]|39] 40 d 4x5-= 20 j 10x5-= 50
41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50 e 5x5= 25 R 11x5= 55
51152 | 53| 54| 55|56 |57 |58]|59]| 60 f 6x5= 30 | 12x5= 60

How many petals are there in total?

000000 vs- 0 @ QO s s
00 2x5-_10_ 00000 x5-_25
0000 4x5=_20 f 0 1x5=_5
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Answers - 5x tables

Colour the 5x tables.

1 2 13|45 |6 |78 9(]10
M"M{12 (1311415 (16|17 |18 | 19| 20
21122 123 124|125 2627|2829 | 30
31132133 |34 (353637 |38(39] 40
41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50
51152 |53 |54 |55 |56|57|58(59]60

How many petals are there in total?

OOOOOOM5

Oﬁhh_

o o o o four x five = _twenty

Complete:

a 5x5= 25

b / 5 =35
c 2x5-= 10

d 9x5-= 45

e 3x5= 15

f 11 5 =55

s QO - s
OOOOOMH_

f°1x5= 5
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Answers - 5x tables

Colour the 5x tables in the grid below.

20 (37 46| 5 |43 |51 6 | 59| 36

52| 4 |13 |28 |50 (19|42 29|49

30 | 21 |44 | 1 |60 | 26 | 47 | 12 | 56

53|45 (38|57 |15 33|54 |34 | 3

8 |31 (40 | 22| 7 [55 | 11|48 | 16

17 (35| 9 |27(32|18| 2 (23] 10

* W W
Complete:
41 @ 5x5-__ 25 g 1x5=__5
251 7 x_ 5 =35 h 4 x_ 5 =20
41 ¢ 2x5=__ 10 _ 12x5=__ 60
241 4 ax5- 45 j 10x5=__ 50
58 e 3x5= 15 kR 8 X 5 =40
| 5 _ 11 x_5 =55 | 6x5=__ 30

How many petals are there in total?

OOOOOOM
oo 2x5=10
oooo 4x5=20

30 000 3x5=15
OOOOOMM
f 0 1x5 =5
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